H34

20km/h

6 54 - 22 152
H17
3 21 - 14 7
H17
25t 150
)
48 . 30 18 « )
140
H11
1c( 1¢( )




1.5km/km?

DID

5ha

(300

16ha

100

12 - 10
H17
61 - 55 6
H17
H11 2,335 - H18 2,882 547
H11,18
1 31 - 12 19

H11,17




H16.9

20

1km

6m

€02

1.9 t/

NO2

SPM

0.7t

56dB — 49dB H19 7dB
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L=20.7km

/7))

53,000 59,000

920 123 1,042

() 1,490 76 1,565
48 4 2 o4
() 1,748 94 57 1,899
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Oio] (. O |gjm0d Oy aioyopaig) oy o



1.108




21.1

-29 S 49| 3.6484 0 0 0 0
-28 S 50] 3.5081 0 0 0 0
-27 S 51] 33731 0 0 0 0
-26 S 52| 3.2434 0 0 0 0
-25 S 53] 3.1187 0 0 0 0
-24 S 54| 2.9987 0 0 0 0
-23 S 55| 2.8834 0 0 0 0
-22 S 56| 27725 0 0 0 0
-21 S 57| 2.6658 0 0 0 0
-20 S 58] 25633 0 0 0 0
-19 S 59| 24647 0 0 0 0
-18 S 60] 2.3699 0 0 0 0
-17 S 61] 22788 0 0 0 0
-16 S 62| 21911 0 0 0 0
-15 S 63| 21068 0 0 0 0
-14 H 1] 2.0258 0 0 0 0
-13 H 2] 1.9479 0 0 0 0
-12 H 3] 1.8730 0 0 0 0
-11 H 4] 1.8009 2 3 0 0
-10 H 5] 1.7317 19 33 0 0
-9 H 6] 1.6651 16 27 0 0
-8 H 7] 1.6010 45 71 0 0
-7 H 8] 1.5395 56 87 0 0
-6 H 9] 1.4802 86 127 0 0
-5 H 10| 1.4233 198 282 0 0
-4 H 11] 1.3686 225 309 0 0
-3 H 12] 1.3159 174 229 0 0
-2 H 13] 1.2653 106 134 1 1
-1 H 14] 1.2167 134 163 2 2
H 15] 1.1699 50 58 3 3
1 H 16] 1.1249 6 7 3 3
2 H 17] 1.0816 2 2 3 3
3 H 18] 1.0400 5 6 3 3
4 H 19] 1.0000 0 0 3 3
5 H 20] 0.9615 0 0 3 3
6 H 21] 0.9246 0 0 3 3
7 H 22] 0.8890 0 0 3 3
8 H 23] 0.8548 0 0 3 3
9 H 24] 0.8219 0 0 3 2
10 H 25] 0.7903 0 0 3 2
11 H 26] 0.7599 0 0 3 2
12 H 27] 0.7307 0 0 3 2
13 H 28] 0.7026 0 0 3 2
14 H 29] 0.6756 0 0 3 2
15 H 30] 0.6496 0 0 3 2
16 H 31] 0.6246 0 0 3 2
17 H 32] 0.6006 0 0 3 2
18 H 33] 05775 0 0 3 2
19 H 34] 0.5553 0 0 3 2
20 H 35] 0.5339 0 0 3 2
21 H 36] 05134 0 0 3 2
22 H 37] 0.4936 0 0 3 1
23 H 38] 0.4746 0 0 3 1
24 H 39] 0.4564 0 0 3 1
25 H 40] 0.4388 0 0 3 1
26 H 41] 0.4220 0 0 3 1
27 H 42] 0.4057 0 0 3 1
28 H 43] 0.3901 0 0 3 1
29 H 44] 0.3751 0 0 3 1
30 H 45] 0.3607 0 0 3 1
31 H 46] 0.3468 0 0 3 1
32 H 47] 0.3335 0 0 3 1
33 H 48] 0.3207 0 0 3 1
34 H 49] 0.3083 0 0 3 1
35 H 50] 0.2965 0 0 3 1
36 H 51] 0.2851 0 0 3 1
37 H 52] 0.2741 0 0 3 1
38 H 53] 0.2636 0 0 3 1
39 H 54] 0.2534 -204 47 3 T
920 1,490 123 76

920 123

15




() () (! C )
(A) =<(A) (A)>< =<A) | ( ) 4%

H 1.00870 1.2653 17 22 1 2 1 1 19 24

H 1.00863 12167 17 21 1 2 1 1 19 23

H 1.00855 1.1699 48 56 4 4 2 2 54 63

1 H 1.00848 1.1249 47 53 3 4 2 2 53 60
2 H 1.00841 1.0816 51 55 4 4 2 2 56 61
3 H 1.00834 1.0400 53 55 4 4 2 2 58 61
4 H 1.00827 1.0000 63 63 4 4 2 2 69 69
5 H 1.00820 0.9615 76 74 4 4 2 2 83 79
6 H 1.00814 0.9246 81 75 4 4 2 2 88 81
7 H 1.00807 0.8890 84 75 4 3 2 2 90 80
8 H 1.00499 0.8548 87 75 4 3 2 2 94 80
9 H 1.00496 0.8219 90 74 4 3 2 2 96 79
10 H 1.00494 0.7903 82 65 4 3 2 2 88 70
11 H 1.00491 0.7599 7 59 4 3 2 2 83 63
12 H 1.00489 0.7307 76 55 4 3 2 2 82 60
13 H 1.00486 0.7026 74 52 4 3 2 2 80 56
14 H 1.00484 0.6756 75 51 4 3 2 2 81 55
15 H 1.00482 0.6496 78 51 4 2 2 2 85 55
16 H 1.00480 0.6246 90 56 4 2 2 1 96 60
17 H 1.00477 0.6006 104 62 4 2 3 2 110 66
18 H 0.99966 0.5775 85 49 4 2 2 1 91 52
19 H 0.99966 0.5553 72 40 4 2 2 1 78 43
20 H 0.99966 0.5339 72 39 4 2 2 1 78 42
21 H 0.99966 0.5134 72 37 4 2 2 1 78 40
22 H 0.99966 0.4936 72 36 4 2 2 1 78 39
23 H 0.99966 0.4746 72 34 4 2 2 1 78 37
24 H 0.99966 0.4564 72 33 4 2 2 1 78 36
25 H 0.99966 0.4388 72 32 4 2 2 1 78 34
26 H 0.99966 0.4220 72 30 4 2 2 1 78 33
27 H 0.99966 0.4057 72 29 4 2 2 1 78 32
28 H 0.99624 0.3901 70 27 4 1 2 1 7 30
29 H 0.99623 0.3751 69 26 4 1 2 1 75 28
30 H 0.99621 0.3607 68 24 4 1 2 1 74 27
31 H 0.99620 0.3468 66 23 4 1 2 1 72 25
32 H 0.99618 0.3335 65 22 4 1 2 1 71 24
33 H 0.99617 0.3207 64 20 4 1 2 1 70 22
34 H 0.99615 0.3083 63 19 4 1 2 1 69 21
35 H 0.99614 0.2965 61 18 4 1 2 1 67 20
36 H 0.99612 0.2851 60 17 4 1 2 1 66 19
37 H 0.99611 0.2741 59 16 4 1 2 1 65 18
38 H 0.99630 0.2636 58 15 4 1 2 1 64 17
39 H 0.99629 0.2534 57 14 4 1 2 1 63 16
2,864 1,748 153 94 93 57 3,109 1,899




